( 2015%E04H )

- EMEAH >TARKE I

X & R B 20154F 20154
04A | Rit |[AFH (R AR
% EICBY H185 298 298 298
Iz i 37 37 37
BmslIc w 72 72 72
sw 91 91 91
BRI Y S 0 0 0
IRARNE BT S 0 0 0
F DDA 25 25 25
U\ 19 523 523 523
2iE BEFEICEET 5 25 25 25
FENG|-ETEEE 36 36 36
EBENEICRYTLEE 16 16 16
BEERICETLEIE 0 0 0
BEMEICETLIEE 0 0 0
D DELE 13 13 13
(II\ it) 90 90 90
>2tA BRI 3 3 3
EH&%ILM% 2 2 2]
EHNEICEHYIHF 0 0 0
REBHICHYSHF 0 0 0
BEMEICEAT % 0 0 0
FOHDEHE 0 0 0
G\ 9] 5 5 5
& &t 618 618 618
(BF WEEOKR)
X o N = 20145/
Rit | AFEH(RE - 12)
[1HE% | GIEEICRE9 H4H5 3525 293
Iz i 580 48
ENGIIZEd 5485% 1143 95
sw 1317 109
REERICBY S 0 0
REBE IRY S 0 0
T DD 527 43
U\ 7092 591
=iE BEEICET5EE 208 17
FENGI-ETEEE 186 15
EENEICRETLEE 104 8
BEERICEYT5EE 0 0
BEME Y LEE 0 0
Z DD EE 46 | 3
G\ ) 544 45
HotA | EEEICETIHE 81 6
FEEMGIICEd 5% 18 1
EHNECEHYTIHE 1 0
BEERICET30% 0 0
REME Y 5HE 0 0
ZTOHDBE 1 0
G\ 1) 101 8
& 7737 644
GE) 1. R4, BA4HTHS.

CREICEY, - EE-HoEADENTAIZEFLTHLLTWSEELHS,



iE3%- M RH -t AMBEL 54—

ng Hili | &8 04 BofE
E5 ARE %R | E3* B iEg: | %% | cFD 20,3 Sv7 | BBE |®ofh| 5t
=8t 3,8 FYs 2
[EE HIEEICR T B4 132 36 60 5 0 3 0 0 0 62 298
EFICET 283 9 13 13 1 0 0 0 0 0 1 37
FEEIGIICEET A4 42 10 18 0 0 1 0 0 0 1 72
ERNE T B 56 3 6 0 0 0 0 0 0 26 91
HEMICEd 5% 0 0 0 0 0 0 0 0 0 0 0
R BN E CRRd 548:% 0 0 0 0 0 0 0 0 0 0 0
A DL 13 4 1 1 0 1 0 0 0 5 25
[GE5) 252 66 98 7 0 5 0 0 0 95| 523
=15 BFICRETAER 11 7 7 0 0 0 0 0 0 0 25
SEIGICHATAER 25 2 7 0 0 2 0 0 0 0 36
BENEICETAER 7 2 2 1 0 0 0 0 0 4 16
BEERICHATAEME 0 0 0 0 0 0 0 0 0 0 0
BEBEICEISEE 0 0 0 0 0 0 0 0 0 0 0
FDDEE 7 3 3 0 0 0 0 0 0 0 13
[ 1)) 50 14 19 1 0 2 0 0 0 4 90
>tA |EEEICETA0E 1 0 2 0 0 0 0 0 0 0 3
FEENE|Z & 1 0 1 0 0 0 0 0 0 0 2
ERAEICEETA0%E 0 0 0 0 0 0 0 0 0 0 0
#HERICET 5% 0 0 0 0 0 0 0 0 0 0 0
BRBSICEIEHE 0 0 0 0 0 0 0 0 0 0 0
DD GRS 0 0 0 0 0 0 0 0 0 0 0
(G 2 0 3 0 0 0 0 0 0 0 5
&5t 304 80 120 8 0 7 0 0 0 99| 618
($%E 20154E0E (20154F04A ~ 20154£04A) RiEH)
; il | &8 HomE
=5 nE wat | m | BE @ | xm | oo (208507 | ma |zom|
= FYs | FYIR B
[EE FIREICRE T S48 132 36 60 5 0 3 0 0 0 62] 298
9 13 13 1 0 0 0 0 0 1 37
42 10 18 0 0 1 0 0 0 1 72
56 3 6 0 0 0 0 0 0 26 91
0 0 0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0 0 0
13 4 1 1 0 1 0 0 0 5 25
252 66 98 7 0 5 0 0 0 95| 523
il N kRS 11 7 7 0 0 0 0 0 0 o 25
FENMGI|ICET5EH 25 2 7 0 0 2 0 0 0 0 36
WEICEET S EE 7 2 2 1 0 0 0 0 0 4 16
HERICRATIER 0 0 0 0 0 0 0 0 0 0 0
S &R T 5EE 0 0 0 0 0 0 0 0 0 0 0
DD EE 7 3 3 0 0 0 0 0 0 0 13
“h &) 50 14 19 1 0 2 0 0 0 4 90
HotA |EFEICET A0S 1 0 2 0 0 0 0 0 0 0 3
FEEIE|CRET 5% 1 0 1 0 0 0 0 0 0 0 2
BEHENEICRETING 0 0 0 0 0 0 0 0 0 0 0
BEERICRHT29% 0 0 0 0 0 0 0 0 0 0 0
BRWMEICET 5% 0 0 0 0 0 0 0 0 0 0 0
FOHDHE 0 0 0 0 0 0 0 0 0 0 0
[GE5) 2 0 3 0 0 0 0 0 0 0 5
&5t 304 80| 120 8 0 7 0 0 0 99| 618

(6:9) 1 Bt EH8UIE, 2AERTHS,
2. RFICKY. 0 - EH-HotADENRETIICERLTH LLTLSEELHS.




- SEE RS A 5

x4 A& 5 T EA &t

[ B LA SRR 173 113
B A kR E 14 22
5t B S ICRE 9 2485 35 36
BENECET A5 48 42
REEHICEIT A1 0 0
BEBSCET A% 0 0
Z DD HEER 15 8
[UNE)) 285 221
=& EEBICBITAERE 11 13
BENGICRET AEE 16 19
BELECHETLER 12
BEERHICETAER
BEMEICETAIER
FOHDER
[5))
hotA |BFEICET SBF
SZEmMEIcET A%
SENECETHE
REERICEET 5%
BEBEICET 5
FRHDKE
[0 5]

—

—

[l (=] [=](=l[=]{=] (=] (=] LN [=] (=] (=) (=] G b ] LX) [=] [=] Bl el B N

&
E-Y

(2] Gt (=3 [=] [=) (=) e (=) ) ol (=) [=]
DD IOIO|IO|IO|=|W|=|O|O|O|H

w
w
N
[~
—

&

($FE 20155 (20155E048 ~ 20154E048) RE)

=% RE 8 T EA &t

i B LA R 173 113
BFCETEES 14 22
FEma| BT AR 35 36
BHEUECET a5 48 42
by NSRRI R 0 0
'§MELﬁ76ﬁﬂ 0 0
Z Db DIEE 15 8
[)) 285 221
=i BFCETIER
e ML BT AETR
ERNECETIER
BEERICETAE
BEMEICEETAE
ToRoRN
U\
HotA |BFICETEIHNE
FEWEICETARE
BRLECET 0E
HEMICETHE
BENEICETAHE
T0HDHKE
(D)

—

—

OIO|O|O|O|O|O|OIN|O|0|O|O|=|=ININ|O|O|=|=|—=|N
[=]

523

-
.
-
w

—t
D
e
©

e
N

-

W= |OI0|0|0|—=|O]|N||O|O
F-Y

Y

DN BI|OIO|I0|O|=|W|=|n|O|O|~
[ L [=[=[=)[=]

N
[=2]
-y

61

libg
Elr_l
&8

(B LA EHBUE. Z2HAEBTHS.
2. RBICKY, 0B -HoLADEAENICEELTHELTWSEEAH S,



